45—1 Kp B = £ F
1\ I=CN 5]
T Gt 4 i H B =¥ M = BAT =
(+T)
e +wb (4.029 X 2.854 + 2.655 X 1.480) 2 X 2.260 17. 434 m3
17.434 — 2.530 — (0.196 X 2 -+ 0.342) X 0.300
pEEg=S) AL — 0.074 — 0.103 — 0.211 — 2.112 X 0.100 13. 854 m3
— 0.450 X 0.314 X 0.837 — 0.450 X 0.314 X 0.792
FEHHEIE 2.155 X 0.980 2.112 m2
sy 17. 434 m3
(FRIRFERET)
FEpE RC—40 (t=10cm 2.155 X 0.980 2.112 m2
=/ RN 18N—8—25 2.155 X 0.980 X 0.035 0.074 m3
oy U—Fh 18N—8—40 (2.050 X 0.860 — 0.196 X 2 — 0.342) X 0.100 0.103 m3
24N—8—25 2.155 X 0.980 X 0.100 0.211 m3
T e ¥Bray (2.155 + 0.980) X 0.035 X 2 0.219 m2
AR (2.050 + 0.860) X 0.100 X 2 0. 582 m2
BEA (2.155 + 0.980) X 0.100 X 2 0.627 m2




T fi 2 P o) 1 = % & L X1vA 2
7330 D13 REOEESE - 22. 092 kg
2 UR— T T — 6450 2. 000 1
6600 1.000 1
A AT 0.074 + 0.103 0. 177 m3
B 0.211 m3
(FLAERRE T)
PN | SNV 1. 000 5




45—1 K w

=

=2

LS

=]

[ERT] (B
T fe 24 g o) " = % & X (A 2
(+T)
1R A+ 0.13 X 1.000 + 0.13 X 2,000 . 390 m3
(FERT)
AR T VU6 100 0.935 + 0.861 + 0.249 + 0.449 . 494 m
ST (607) . 000 1
ST (157) .000 1
F—% (100) L000 | fH
EHRET #6200 ST . 000 1
MEEVUS 200 0.530 — 0.018 — 0.135 . 377 m




[A{ET]

45—2 K n =

& S

(80D

T Gt 4 i H s =1 = H = BAfT =
(+T)
e + b (4.718 X 3.483 + 3.275 X 2.040) 2 X 2.405 27.794 m3
27.794 — 3.440 — (0.342 X 2 + 0.196) X 0.300
pEEg=S) AL — 1.505 — 0.200 — 3.996 X 0.100 — 0.450 X 0.314 21.745 m3
X 0.872 — 0.450 X 0,314 X 0.827
FEHHEIE 2.775 X 1.440 3.996 m2
sy 27. 794 m3
(FRIRFERET)
FEpE RC—40 (t=10cm 2.775 X 1.440 3.996 m2
=/ RN 18N—8—25 2.775 X 1.440 X 0.050 0. 200 m3
oy Y—Fh 24N—8—25 B 2.775 X 1.440 X 0.200 = 0.799
o 0.100 X 0.100 X 7 X 1.905 X 4 = 0.239
R ( 2.775 X 1.440 — 0.342 X 2 —0.196 ) X 0.150 = 0. 467
AE 0.799 + 0.239 + 0. 467 1.505 m3




T fe Z4 PR B B = H = X (A e
T e BCTayv (2.775 + 1.440 ) X 0.050 X 2 0. 422 m2
SR EERR (2.775 4+ 1.440 ) X 0.200 X 2 1. 686
PRI (2,775 + 1.440 ) X 0.150 X 2 1. 265
A% 1.686 + 1.265 2.951 m2
] R 2 e ] 0.200 X 7© X 1.905 X 4 4,788 m2
BRA% D10 B i X £k 5 3% 1 0 104. 746 kg
D13 Fi i X k5 3% 1 0 86. 040 kg
v Rl T — 6450 1. 000 1
6600 2. 000 1
#E i 0. 200 m3
BeAn 1.505 m3
(P AR E )
(N ENYAY! 1. 000 =




4 5—2 KB H &= A
[ERT] (B
T fe 24 g o) " = % & L X1vA 2
(+T)
A +wp 0.26 X 3.673 . 955 m3
B A+ 0.13 X 1.000 + 0.13 X 4.500 715 m3
B 4kt 0.13 X 3.673 L ATT m3
HeHHEIE 0.45 X 3.673 . 653 m2
B sy 0.955 — 0.477 . 478 m3
(FET)
BT VP 100 0.895 + 2.861 . 756 m
VU100 . 359 m
ST (607) . 000 &
90" XK (100) . 000 1
EMERE T #HMHo200—-90L . 000 1 PrekE
EVUG200 0.530 — 0.018 — 0.135 . 377 m
BERRHEKEEIB T VP¢ 50 . 000 m




S, AL =R Wz j i[:‘ g
T & 4 i H =¥ M = B ]
(IR 1A T2)
N . 1. 000 1i#
AP E T Bt (200)
# (200) 1. 000 %
27U —h 0.200 X 0.200 X 0.050 0. 002 m3
(18—8—25)
Hfitht (RC—40) 0.300 X 0.300 0.090 | m2

t=1O0cn




45— 2 K n & £ i
[ A{KT]

NN/
(ELAM )

T fe 24 g o) & B = % & X(A 2
(fxT)

a7 Y — MEEEL AR 13.46 X 0.100 1. 346 m3 s
(7 V) — Ms#EEIRT)

. n 18N—8—40

a7 ) —1 t=10cm 9. 460 m2

A RC—40 t=10cnm

9. 460 m2




[A{ET]

45—3 K n =

& S

(80D

T Gt 4 i H s =1 = H = BAfT =
(+T)
e + b (4.598 X 3.363 + 3.275 X 2.040) 2 X 2.205 24. 414 m3
24.414 — 3.440 — (0.342 X 2 + 0.196) X 0.100
pEEg=S) AL — 1.480 — 0.200 — 3.996 X 0.100 — 0.450 X 0.314 18. 566 m3
X 0.872 — 0.450 X 0,314 X 0.827
FEHHEIE 2.775 X 1.440 3.996 m2
sy 24. 414 m3
(FRIRFERET)
FEpE RC—40 (t=10cm 2.775 X 1.440 3.996 m2
=/ RN 18N—8—25 2.775 X 1.440 X 0.050 0. 200 m3
oy Y—Fh 24N—8—25 B 2.775 X 1.440 X 0.200 = 0.799
O 0.100 X 0.100 X 7 X 1.705 X 4 = 0.214
BRAR ( 2.775 X 1.440 — 0.342 X 2 —0.196 ) X 0.150 = 0. 467
AE 0.799 + 0.214 + 0. 467 1. 480 m3




T fe Z4 PR B B = H = X (A e
T e BCTayv (2.775 + 1.440 ) X 0.050 X 2 0. 422 m2
SR R (2.775 4+ 1.440 ) X 0.200 X 2 1. 686
PRI (2,775 + 1.440 ) X 0.150 X 2 1. 265
A% 1.686 + 1.265 2.951 m2
] R 2 e ] 0.200 X 7© X 1.705 X 4 4. 285 m2
BRA% D10 B i X £k 5 3% 1 0 103. 090 kg
D13 Fi i X k5 3% 1 0 82. 856 kg
v Rl T — 6450 1. 000 1
6600 2. 000 1
#E i 0. 200 m3
BeAn 1. 480 m3
(P AR E )
(N ENYAY! 1. 000 =




45—3 Kf

=

J=ER 5]
(§==F/::p)

24 B & H = X(A e
A +w . 700 .814 m3
=) A+ .000 + 0.13 X 5.800 . 884 m3
R A+ . 700 . 481 m3
A E . 700 . 665 m2
sy . 481 .333 m3
BT VP¢100 .673 + 4.159 . 264 m
ST (607) . 000 1

LR E H£Ho200-—90WY . 000 & PRk
MEVUG 200 .018 — 0.020 — 0.135 . 157 m
i SRR SD90OL (¢6150) . 000 1
MEEVUG 150 .015 — 0.130 . 365 m




T i 4 i H -1 =¥ ® = BAfT L
(f=1)

oL ) — REEEL A 1.62 X 0.100 0. 162 m3 s
(o7 U — MZEEIRT)

N Y 18N—8—40

a7 )—1 t=10cm 1. 620 m2

Sk RC—40 t=10cm 1. 620 m2




45— 3 Kp n & £ i
[ A{KT]

NN/
(B

T fe Z4 PR B & B = H = B e
(=T

a7 J— MEUEL 7755 2.26 X 0.100 0. 926 m3 s
(mr 7 ) — MEEEIRT)

.. . 18N—8—40

a7 ) —1 t=10cm 2.260 m2

AR RC—40 t=10cm

2. 260 m2




45 —4 K B = £ F
1\ I=CN 5]
T 4 i H B = BAT =
(+T)
e +w (4.700 X 3.090 + 3.410 X 1.800) /2 X 2.150 22.211 m3
22.211 — 5.163 — 0.340 X 0.340 X X 0.100 X 3
pEEg=S) AL — 0.316 — 0.425 — 0.212 — 4.248 X 0.100 — 0.450 X 0.314 15. 329 m3
X 0.846 — 0.450 X 0.314 X 0.801
FEHHEIE 2.950 X 1.440 4. 248 m2
sy 22.211 m3
(RRRFERET)
pr Yy RC—40 (t=10cm . 950 4,248 m2
a7 )— Kk 18N—8—25 . 950 .440 X 0.050 0.212 m3
a7 Y—h 18N—8—40 . 950 .440 — 0.363 X 3 ) X 0.100 0.316 m3
24N—8—25 . 950 .440 X 0.100 0. 425 m3
7 e ¥Bray . 950 .440) X 0.050 X 2 0. 439 m2
AR . 950 .440) X 0.100 X 2 0. 878 m2
BEA . 950 .440) X 0.100 X 2 0. 878 m2




T & g2 P B & " X *» B | B =

BRAH D13 REOEESE - 43.072 kg
< R—IV T — $600 3. 000 1
e ek ER 0.212 + 0.316 0.528 m3

PR 0. 425 m3

(- LAERE T)

b}/lpt

(N | T i FEYERY 1. 000




45—4 K % & £ 3
CELm)
24 B " H = X (A e
A +w 0.28 X 3.900 . 092 m3
HE A+ 0.13 X 1.000 + 0.13 X 5.800 . 884 m3
HE 2%+ 0.15 X 3.900 . 585 m3
A E 0.45 X 3.900 .755 m2
B sy 1.092 — 0.585 . 507 m3
EHEL VU¢100 0.422 + 1.944 + 3.172 . 538 m
45° NR (100) . 000 1
EHERE T #£Me200—ST . 000 1
EVU6200 0.460 — 0.018 — 0.135 . 307 m
ih SRR E T SD90TL (6150) . 000 1
MEVUG 150 0.504 — 0.015 — 0.130 + 0.280 — 0.015 — 0.130 . 494 m




